H & 0l & AHS B Ml A

FA s8II=sn
3 I =M
CHPl: AIZFRISOIE MAL (69 =)
SA - B S9(SH) - NIRAY - BES o &r o) 3 o HIDS2
s0|=1 4,006,767 3,982,625 24,142
= 857,640 856,140 1,500
Jl 5,653 5,653 0
T 371,852 367,652 4,200
Ea 2,771,622 2,753,180 18,442
sSIsHeY 3,937,839 3,920,839 17,000
= 857,640 856, 140 1,500
) 5,653 5,653 0
== 371,852 367,652 4,200
= 2,702,694 2,691,394 11,300
AgNESHE AL 584,586 570,586 14,000
= 87,500 87,500 0
S 108,552 104,352 4,200
T 388,534 378,734 9,800
AEAE ANEFH NS AlY 14,000 0 14,000
== 4,200 0 4,200
= 9,800 0 9,800
402 2IF X201 & 14,000 0 14,000
T 4,200 0 4,200
o 9,800 0 9,800
02 QI X2 AL E R (01X THE) 14,000 0 14,000
orgXh=z NEFY NS AlE
10,000, 0002 *2CH*70f% 14,000 0 14,000
= 4,200 0 4,200
s 9,800 0 9,800
== MII=s22 684,638 681,638 3,000
= 141,500 140,000 1,500
= 80,500 80,500 0
s 462,638 461,138 1,500
sHE HollE YHdl X 183,000 180,000 3,000
= 91,500 90,000 1,500
[Ea 91,500 90,000 1,500
206 MH=H| 183,000 180,000 3,000
= 91,500 90,000 1,500
= 91,500 90,000 1,500
01 MHZH| 183,000 180,000 3,000
osXE doliE 2l XN&H
& 183,000,000& 183,000 180,000 3,000
= 91,500 90,000 1,500
o 91,500 90,000 1,500
Hees(sgii=) 7,142 0 7,142
SPSPNES 7,142 0 7,142
EPSPNES 7,142 0 7,142
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M S8
M WRS(sI1=1)
& BEEXE (CH9: &S1)
SA - BE - SRI(BH) - MRAR - BAS ol &r o H o HIDS2
802 Btz DI Et 7,142 7,142
02 Al - SHIEXZEHEZ 7,142 7,142
22028 225 AAXZ A
1,674,600 1,675 1,675
o2023E YARZRHIAM DB ADIE 25 23
AEA 9,800& 10 10
=2023F J&THoll CHE Holl LKA
3,518,220% 3,519 3,519
2023 A= OFE0 &= el MEiEX
=4 M 694,520 695 695
o2023E AAS Ol &2 2 MUHEHX
SE A (0IX}) 4,020 5 5
o023 Ol&D|a =5 It HEMA D=
SAH 364,200 365 365
o2022E AtDO0IE AAS OIEUXSHI =
A 437,500 438 438
o202 AtDO0IE SAD NUA THEHEHX] &
A 435,000& 435 435
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